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QUESTION 1

Which of the following OSPF area types are supported by the Alcatel- Lucent 7750 SR? Choose two answers.
A. Not so stubby areas

B. Levell area WC

C. Stub areas

D. Partially stubby areas

E. Level 2 areas

Correct Answer: AC

QUESTION 2

Click on the exhibit.

@ ©

k4 E5

Two LSPs traverse the path R1-R2-R3. Both LSPs are configured with facility fast reroute and link protection. When
router R1 is the PLR, which router becomes the Merge Point (MP) for this LSP?

A. Router R1
B. Router R2
C. Router R3
D. Router R4
E. Router R5

Correct Answer: B

QUESTION 3

What are the three databases maintained by a Link State Protocol?
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A. Neighbor, adjacency, route table

B. Neighbor, topology, forwarding

C. Topology, routing, forwarding

D. There are only two databases: adjacency and topology

Correct Answer: B

QUESTION 4

In which of the following types of areas does an OSPF router not set the E bit in its Type 1 LSA?
A. Not so stubby area

B. Stub area

C. Backbone area

D. Normal area

Correct Answer: B

QUESTION 5

Click the exhibit button.

Exhibit 4.6.b

Which of the following would correctly configure routers R2, R3, and R4?

A. Option A
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B. Option B
C. Option C
D. Option D

Correct Answer: C
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